
DONG Energy's Option Assessment 

 

Question 

Option 

1A 

Concurrent 

1/10/15 

1B 

Concurrent 

Later 

2A 

Nexus 

Then EU 

2B 

EU Then 

Nexus 

1 

What is the scale of 

dependency to achieving 

successful delivery? (Very High 

dependency = 5) 

 

5 

 

4 

 

4 

 

3 

2 

What would be the impact of 

failure to achieve? (Very High 

impact = 5) 

 

5 

 

5 

 

4 

 

3 

3 

What would be the likelihood of 

failure to achieve? (Very High 

likelihood = 5) 

 

5 

 

5 

 

4 

 

3 

4 

What would be the feasibility of 

mitigating the likelihood of 

failure? (Low feasibility = 5) 

 

5 

 

5 

 

4 

 

3 

5 

What would be the impact to 

your organisation of mitigating 

the likelihood of failure? (Very 

High impact =5) 

 

5 

 

5 

 

4 

 

3 

6 

What would be the scale of risk 

/ impact to your organisation of 

delivery? (Very High = 5) 

 

5 

 

5 

 

4 

 

3 

7 

What would be the scale of 

foregone benefit to your 

organisation relative to Option 

1A? (Very High loss of benefit = 

5) 

  

4 

 

4 

 

1 

 


